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QUESTION 1

An administrator is using a packet sniffer to try to determine what is causing the traffic on the network. The administrator
sees a lot of packets on port 25. Which of the following traffic types is MOST likely using port 257

A. SMTP

B. SSH

C.DNS

D. TELNET
Correct Answer: A

Port no. 25 is assigned to smtp as documented by iana.

QUESTION 2

Which of the following wireless standards has a MAXIMUM transfer rate of 11Mbps?

A. 802.11a

B. 802.11b

C. 802.11g

D. 802.11n

Correct Answer: B

The 802.11b standard allows for a maximum data transfer speed of 11 Mbps, at a range of about 100 m indoors and up
to 200 metres outdoors (or even beyond that, with directional antennas.) Range Range Hypothetical speed (indoors)

(outdoors) 11 Mbits/s 50 m 200 m

5.5 Mbits/s 75 m 300 m 2 Mbits/s 100 m 400 m 1 Mbit/s 150 m 500 m

QUESTION 3

Which of the following protocols uses port 3389 by default?
A. RDP

B. TFTP

C. IMAP

D. DNS

Correct Answer: A
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QUESTION 4

A company has just installed a new network switch for an expanding department. The company is also piloting the use
of a VoIP phone system for this department. Which of the following should be enabled on the new network switch?

A. WINS

B. QoS

C. NAT

D. DHCP

Correct Answer: B

Qos provide the voice packet priority over the data packets to avoid jitter and delay.

QUESTION 5

Which of the following wiring distribution is used to connect wiring from equipment inside a company to carrier cabling
outside a building?

A. 66 block

B. IDF

C. MDF

D. Patch panel

Correct Answer: C
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